A Missing Proofs from Section 3

A.1 Equivalence of Learning a Random Target and Sequential Spanning Problem

In this subsection, we show that when w* is drawn from S%, we can equivalently formulate the
sell-directed linear regression problem as the Sequential Spanning Problem (SSP). In particular, we
will prove Proposition 3.4, which we restated here.

Proposition A.1 (Proposition 3.4). Let X = {x(l), ey x(m)} C R? be a set of examples. For every
self-directed linear regression algorithm A over X, with expected learning loss L(A,S?), we can use
it to get a randomized algorithm A’ for SSP over X with expected cost E(C (o, m)) < d L(A,S%).

Moreover, given a randomized algorithm A’ for SSP over X, we can get a self-directed linear
regression algorithm A over X, with expected learning loss L(A,S%) = E(C(a,m))/d.

To start with, we show that when w* ~ S?, we can describe the Bayes optimal prediction. In particular,

we show that given the points (1), ... 2(i=1) the best possible prediction for the label 3(*) of some
point z(V is w} - (), where L; is the subspace spanned by z1), ..., 2(*=1). We remark that the
vector w}, can be efficiently estimated by the samples (2", y(") = w* - 2(), .. (20D y(= =

w* - 20~ 1) by solving a linear system. We show the following lemma.

Lemma A.2 (Lemma 3.2). Let X = {x(l), . ,x(")} C R? be a set of n examples and w* be a
target vector drawn uniformly from S that labels y") = w* - () for each Y € X. Given any
set of labeled examples (™), y™M), ... (x0=1) 4= denote by L;_, the subspace spanned by
=W, 207 and wy, | the projection of w* onto L;_y. Let A be a self-directed learner; denote

by §) be the prediction of A for the next example (%), then we have E.,- ((g@) —y@)2 wziil) >
E,- ((wj.:L )2 | wi 1) . Furthermore, the inequality holds with equality if §9 = w} -
i—1 T v

1
z().

Proof of Lemma 3.2. We first observe that y*) = w* - 2@ = wj - z® +w;, -z Wehave
e i—1

where the inequality holds because E,, (sz x| wy 1) = 0, as w* is drawn uniformly from
i—1 E
the unit sphere. O

With the Bayes optimal prediction rule, we are able to connect the self-directed learning problem
with SSP directly via the following Lemma. We show that the cost of any self-directed algorithm that

picks a sequence of d points z(1), ... 2(4) of a dataset X is at least (1/d) Z?Zl Hx(gl |2, i.e., at
i—1

every step the algorithm pays for the (squared) length of (") that is not contained in the subspace
spanned by its first i — 1 choices (1), ... z(=1),

Lemma A.3. Let w* be a uniform random vector over S%. Let {:c(l), e ,x(m)} be a sequence
of points in R%. Denote by L; the subspace spanned by V), ... 2@, fori e [d]. Every self-
directed learner A that learns w* with (random) sequence {m(l), e ,x(d)} has an expected cost

, 2
L(ASY) > LE (Zf_l H (JU(Z))LI.{I H ) . Furthermore, the inequality holds for equality if A always

uses the prediction rule in Lemma 3.2.
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Proof of Lemma A.3. We may assume that m = d and random points {z1,...,x4} are linearly
independent. By Lemma 3.2, we know that the optimal hypothesis we use to predict in each round is
wziil. Based on this observation, we obtain that

d d
L:(A, Sd) _ EZ(Q(%) y(Z))2 _ Zw* ((y(z) y(z))2 | w*7_1) > ZE ((wzil 1'(2))2 | wzl 1
=1 i=1 i=1
d
=3 E (). @) )P wi,,)
i=1
: 2 ; 2 WL (@),
=S E | uis, | JeDs, | =7 e
=

2

d . d
_ d—i1+1 1 @) 2 1 @
_E; d d—i—s—lH(w Jue, _E;dH(m St

Here, in the second last equality, we use the fact that for any fixed £ dimensional subspace, the
expected square of the norm of w* (which is drawn uniformly from the unit sphere) projected onto
that subspace is k/d.

O
The proof of Proposition 3.4 can be obtained as a direct corollary of Lemma A.3.

Proof of Proposition 3.4. We first show how to construct a randomized algorithm A" for SSP based
on a self-directed learner A. A’ works as follows. We draw some w* ~ S% run A over X to learn w*.
A’ outputs o, the order of the examples we select during the learning process. By Lemma A.3, we
know that E C(a,m) < dL(A,S9).

Next, we show that given a randomized algorithm A’ for SSP over X, we can efficiently construct a
self-directed learner. We run A’ over X to obtain an order o of examples in X. Learner A selects
examples according to ¢ and make a prediction according to Lemma A.3. By Lemma A.3, we know
that £L(A,S?) = EC(0,m)/d.

O

A.2 Approximating k-SSP via Approximating SSP

In this subsection, we show that if we can compute an approximate solution to SSP over X efficiently,
then we can also compute an approximate solution to k-SSP over X efficiently for every k. In this
section, we will use a(d,m) : N x N +— R™ to denote the approximate ratio of an approximate
algorithm. Formally, we will prove Lemma 3.9, which we restate again here.

Lemma A.4 (Lemma 3.9). Assume that an algorithm for SSP in d dimensions exists that finds
an a(d, m)-approximate solution in poly(d, m) time. Then an algorithm that finds a 4a(m(d +
m), m(d + m))-approximate solution for k-SSP for every value of k in poly(d, m) time exists.

Let X C R? be a set of m points. We say X is in general position if any subset of k points of X is
linearly independent. The proof of Lemma 3.9 can be broken down into two steps.

In the first step, we claim that given any set of examples X, we are able to put them to general
position efficiently while preserving the SSP-cost of every permutation of X within a factor of 2.

Claim A.5. Given X C R%, a set of m points, we can efficiently construct amap f : X — R™ such
that f(X) is in general position. Furthermore, for every sequence of points o = (33‘(1), ey m(m)),
denote by f(@) = (f(z (1), ..., (&™), then C(o,k) < C(f(0), k) < 2C(c k)

Proof of Claim. Assume X = {2z ... 20™}  Without loss of generality, we assume
MiN; e [r,] Hm(i)H = 1. The mapping f is defined as follows. We map each z(") to a vector

@) = 20" 4 eeyqy in RT™ for some € < 1/k2. Here, (z(0); = x? ifj <d, (™), =0
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otherwise and ey, ; is d + i-th standard basis vector in R¥™_ Tt is easy to see that f(X) is linearly
independent and thus f(X) is in general position. It remains to show f preserve the cost of an
ordered sequence of points. Let o be any sequence of points. Without loss of generality, we assume
that o = (M), ..., 2(™)). To simplify the notation, we denote by f(L;) the subspace spanned by
{f(zM),..., f(xD)}. Based on our construction, we have decomposition f(L;) = L} & E;, where
L’ is the subspace spanned by x(l)/, e ,x(i)l and F; is the subspace spanned by €441, ..., €4+i-
This implies that

Pz £ (@) = proj ) 2 + eeqpiga.
Thus, we obtain that

C(o,k) < C(f(a),k) = Clo, k) + ke* < 2C(0, k),
where the last inequality follows by C(o, k) > 1 and ke? < 1.

o

In the second step, we show that given any set of examples X in general position, we are able to
construct an efficient approximate algorithm for k-SSP over X via an efficient approximate algorithm
for SSP over X.

Claim A.6. Let X C S be a set of m points in general position. Let A be an o.(d, m)-approximate al-
gorithm for geometry latency problem. We can efficiently use A to obtain a 2a/(dk, dm)-approximate
solution to the k-SSP over X.

Proof of Claim. Without loss of generality, we assume k < d. Otherwise, if k& > d, we can run
A over X directly and pick the first & points in order in the output solution. This solution is an
a(d, m)-approximate solution. So in the rest of the proof, we assume &k < d.

Let X C S be a set of m points in general position. We first construct a set of dim examples X’ in
R? as an input to A. For i € [m], we denote by 29" the following vector in R%. ("), = xﬁ-l)
if j <d, (x(i)/) ; = 0 otherwise. For i € [dk], denote by e; the ith standard basis in R%. For each
() e X, we create d examples (%) for j € [d] such that (%) = 2" 4 ¢€(7) where £09) is a
random vector drawn uniformly from the unit sphere, in the subspace spanned by €441, . .., exq and
€ > 0 is a tiny number we will determine later.

Next, we run A over the new dataset X’ and get a solution o/ = 2(1171) z(272) ' to the SSP over
X'. We construct a solution ¢ in the following way. For £ € [dm)], we write z:(7¢7¢) = z:(%0)" 4 ¢g(iede),
We go through o’ and every time we see a point (47¢) constructed from a new z(*)". We append z¢
to our solution 0. We output ¢ if we have appended & points to . Notice that for every ¢, j, @’
and £(9) are orthogonal to each other. So every time a point (%) constructed from some new z(?) is

included in o', we pay at least Hproj Lilx(i) H2, where L;_; is the subspace spanned by the previous
1 — 1 examples in X that we have used. This implies that

C(o,k) < C(o',dm).
Denote by o* the optimal solution to the k-SSP over X. We will show ¢ is a good approximate
solution by constructing another solution & to the SSP over X’ such that C'(&, dm) lower bounds

C(o*, k) within a factor of 2. We construct & in two stages. Assume ¢* = (z(") ... (%)), In
the first stage, for £ € [k], we append (1) ... 204 to 7. In the second stage, we append the
remaining points in X’ to & with arbitrary order. We first bound the cost in the first stage. Use the
fact that for every ¢, 7, 2™ and €09) are orthogonal to each other again. It is not hard to see the cost
in the first stage is at most C'(0*, k) + dke?. As C(o*, k) > 1, we have the cost in the first stage is at
most 2C(c*, k) by choosing €2 < 1/(dk).

It remains to show that with probability 1, the cost of the second stage is 0. Since
in the first stage, we added dk points to &, it is sufficient to show that with
probability 1, these dk examples are linearly independent.  Suppose we have added
(@D p@dy (e ) g Gead)y (g Gel) D (829)) to G and these d(£—1)4-7 points
are linearly independent. We show that with probability 1 if we add z(%¢7+1) to & they are still
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linearly independent. Since X is in general position, we know that (") ... x(%) are linearly
independent. This implies if 2:(*/*1) is in the subspace spanned by the previous d(£ — 1) 4 j points
then z(%7*1) is in the subspace spanned by (z(*!), ... x(%J)). Again, we use the fact that for
every i, j, (" and £(9) are orthogonal to each other. This implies that £(#+1+1) is in the subspace
spanned by (£0¢1) ... £(i)), This probability is 0 because the noise vectors are drawn from a
d(k — 1)-dimensional sphere uniformly. This implies that with probability 1 the points we added in
the first stage are linearly independent.

So, we get C(a, k) < 2C(c*, k). To finish the proof, we have
C(o,k) < C(o',dm) < a(dk,dm)C(5,k) < 2a(dk,dm)C (o™, k).
So we construct a 2«/(dk, dm)-approximate solution o to the k-SSP over X efficiently.

N

Proof of Lemma 3.9. Let A be an «(d, m)-approximate algorithm for SSP. Denote by opt the opti-
mum of the k-SSP over X. Assume that opt is achieved by some sequence ¢* Since X may not be
in general position, we use Claim A.5 to obtain a dataset f(X) that is in general position. Let f (o)
be an «-approximate solution to the k-SSP over f(X). Then o is a 2a-approxiate solution to the
k-SSP over X. This is because

Clo, k) < C(f(0), k) < aC(f(07), k) < 2aC(0", k).

Now we have a set of m points f(X) in R“™ that is in general position. By Claim A.6, we know
that we can use A to obtain a 2a((d + m)k, (d + m)m)-approximate solution to the k-SSP over
f(X). Thus, we conclude that we can efficiently find a 4a((d + m)k, (d + m)m)-approximate
solution to the k-SSP over X.

O

A.3 Approximating k-edge Packing via Approximating k-SSP

In this subsection, we show that given an approximate algorithm for k-SSP, we can use it to design
an efficient approximate algorithm for k-edge packing.

Lemma A.7 (Lemma 3.8). If there is an «(d, m)-approxiate algorithm for k-SSP problem, then
there is a 2a(n, m)-approximate algorithm for k-edge packing problem

Proof of Lemma 3.8. Let G = (V, E) be an instance of k-edge packing problem, and let A be an
efficient algorithm for k-SSP. We will show we can use A to construct an efficient algorithm that
outputs a 2a-aprroximate solution to the k-edge packing problem. To do this, we first construct
an instance of k-SSP based on GG. Recall that G contains n vertices and m edges. For every edge

e = (u,w),u < w, we construct a vector v, € R™ such that (ve)y, = 1, (ve)w = —1 and (ve)s =0
for s & {u,w}. Werun A over X = {v.}.cp and obtain a sequence o = (v, ..., ¥, ) of k points
in X. Our goal is to show S = {ey,...,er} is a 2a-approximate solution to the k-edge packing
problem.

We first lower bound C(o, k). Recall that C(X,0) = Ele [proj+ ve, |2, where L;_; is the
subspace spanned by v, , ..., v, ,. Now we only consider the cost for every e; such that when
we add e; to {e1,...,e;—1}, we introduce new vertices to the solution. There are two cases we
will consider. In the first case, adding e; will introduce two new vertices u, w. This implies that
(Ve;)u = (Ve;)w = 0 forevery j < i — 1. Thus v., L L;_; and the cost of picking v, is 2. In
the second case, adding e; will only introduce one new vertex u. This implies that (v, ), = 0 for

every j < i — 1 and thus we will pay at least 1 for picking v,,. This gives the following lower bound
C(o,k) > |V(S)|, where V(S) is the set of vertices covered by S.

Next, let S* be the optimal solution to the k-edge packing problem. We will use S* to construct
a solution o* to the k-SSP such that C'(c*, k) < 2opt, where opt is the optimum of the k-edge
packing problem. We first decompose S* into disjoint connected components C'p, . .., Cy. The order
o* is constructed in two stages.

In the first stage, we start with an arbitrary edge e; € C and add v., to o*. Next, we keep adding
ve, € C so that we only introduce one new vertex by adding e; to o*. If adding one edge from e;
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will not introduce new vertices in C, then we start adding vectors whose corresponding edges are
from C) in the same way. The first stage finishes when we will not introduce any new vertex by
adding any vector to S*. In the second stage, we add vectors corresponding to the remaining edges
with an arbitrary order.

Notice that there are at most opt vertices. This implies that in the first stage, we add at most opt
vectors and each vector charges us at most 2. So, the cost in the first stage is at most 2opt. To show
C(o*, k) < 20pt, we will show the cost is 0 in the second stage. Notice that after the first stage, the
edges we added to o* construct ¢ spanning trees. Thus, adding any new edge will create a cycle.
Assume uy, Uz, . . ., ug to be an arbitrary path in G such that v{v(y, u,,,) | 7 € [ — 1]} has been
added to o*. Furthermore, we assume that we are adding v(,, ,,,) to o™ in the second stage. Since

V(uyug) = Zf;} V(ui,uiyr)» WE know the cost of adding vy, u,) is 0. Thus, the cost for the second
stage is 0 and we obtain that C'(c*, k) < 2opt.

Finally, we conclude that S is a 2c(n, m)-approximate solution to the k-edge packing problem
because

[V(S) < C(o,k) < a(n,m)C(c*, k) < 2a(n, m)opt.

Thus, we constructed an efficient 2ce(n, m)-approximate algorithm for the k-edge packing problem
using A.

O

A4 Approximating DLS via Approximating k-edge Packing

In this subsection, we show if we can compute an approximate solution to k-edge packing efficiently
then we can approximate DS.

Lemma A.8 (Lemma 3.10). If there is an a-approximate algorithm for k-edge packing problem,
then there is an o®-approximate algorithm for DES problem.

Proof of Lemma 3.10. For every k € [n], we define pj, to be the optimal density for the D&S problem
over graph G. To prove the lemma, we first show the following claim.

Claim A.9. py > ppi1 forevery k € [n].

Proof of Claim. Assume there is some k such that p;, < pj41 instead. Let Si, 1 be asetof k + 1
vertices such that p(Sk+1) = pg+1. This implies

k(k+1 k(k—1
|E(Sip)] = proas "ET D) (

MerD) _p  BEZD Lk
9 Ph+1 B) Pk+1
Notice that the minimum degree of a vertex in Sy, 1 is at most pyy1k, otherwise Si 1 has more than

Pk+1 (k;rl) edges. This implies that if we delete the vertex with minimum degree from Si1, we get

a subgraph of ( that contains k vertices and pj 1 (g) > ok (12“) This contradicts the definition of py,.
o

Now we show how to use Claim A.9 to prove Lemma 3.10. Denote by A(k) an a-approximate
algorithm for k-edge packing problem, we will show we can run A for m times to output an -
approximate solution to the D&S problem. Our algorithm works as follows. For i € [m], we run A(¢)
to solve an i-edge packing problem over graph G. Denote by 7* the largest number such that using
the solution output by A(i*), we cover k vertices. Denote by S* the corresponding set of vertices.

We show that S* gives an a?-approximate solution to the DkS problem.

We observe that for every ¢ € [m], if the minimum number of vertices that can be covered by 4 edges

is j, then i = p; (%) Since A is an a-approximate algorithm for ¢*-edge packing problem, we know

that there is some k&’ € [k/c, k| such that

o K E'(k'—1) 1 k
= Pk 9 Zpk#ZEPk 9)

where the first inequality follows by Claim A.9 and the second inequality follows by k&' > k/c.
This implies that p(S*) > pj/a? and thus we get an efficient a?-approximate algorithm for DS
problem. O
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B Missing Proofs from Section 4

B.1 Labeling a Random Set of Examples

Since in this section, we are focusing on the cost of labeling a random set, which is a slightly different
task from labeling a fixed set in Section 3, before presenting the missing proofs in Section 4, we first
reexplain the notations and the benchmark to avoid confusion.

We start with the worst-case setting. Let C be a concept class of function from R™ — R and let f € C
be the unknown target concept. Let A be a self-directed learner and let X be a random set of examples
drawn from some distribution D. Let random variable L(A, X, f) be the loss suffered by A during
the learning process, where the randomness comes from the dataset X and the internal randomness
of A. We say A labels dataset X with loss L if with probability 99% , L(A, X, f) < L. We will use
L(A, X, f) € Rto denote such a bound of loss L. Furthermore, £(A, X) = maxscc L(A, X, f).

A slightly easier setting is when f is drawn from a prior distribution F'. This average-case setting is a
very natural relaxation of the worst-case setting. In this setting, for a fixed set of examples X, we
use L(A, X, F)=E4 s L(A, X, f) to denote the expected loss suffer by .A, where the randomness
comes from f and .A. When X is drawn from a distribution D, £L(A, X, F') is a random variable of
X. In this setting, we are more interested in if with probability at least 99%, we can draw a dataset
X from D such that A can approximate the best learner to learn f ~ F' over X.

Finally, we will consider the gain from ordering for labeling a random dataset X. We observe that
for the linear regression problem when X ~ D and the size of X is large, a random sequence of
d examples from X is roughly a sequence of i.i.d. examples. Based on this observation, instead of
competing with the performance of a learner .A™"4°™ that selects a random order for every realization
of X, we choose to compete with the average performance of 4'#"9°™  This is a reasonable
benchmark and will not make our analysis over complicated due to some extreme cases. Formally, for
the average-case setting, the benchmark we want to compete with is min _grandom £(A™240m X) € R,
And the gain from the ordering of a learner A is a random variable

min grandom Bxp L(A™dOm X )
L(A X, F) ’
where the randomness only comes from X . For the worst-case setting, the benchmark we want to

compete with is min grandom Maxyec Ex~p L(Arndom X £) € R and the gain from the ordering
of a learner A is a positive number

GA X F) =

min grandom Mmax rec BExp L(Arandom X £)
L(A, X)

GAX)=

B.2 Learning in Random Order

To understand the gain of ordering examples, we need to first understand the perfor-
mance of the best self-directed learner that learns with a random order. We will show
that min_grandom Ex~p £L(A™29°M X S?) min granaom maxfec Exp L(A™Om X f) € O(1),
which can be obtained immediately by Lemma B.2 and Lemma B.3. To start with, we present the
following probability lemma that will be used multiple times in this section.

Lemma B.1. Ler L C R? be a k-dimensional subspace, where k < d. Let w be a random vector
sampled uniformly from S%~L. Then the random variable ||proj; (w)||* ~ Beta(k/2, (d — k)/2).

Proof of Lemma B.1. Without loss of generality, we assume L is the subspace spanned by the first
k basis vectors. Then the random variable ||proj; (w)|* = Zle w? is equivalent to the the
random variable S°F_ (2%)2/ 2% (2)2, where for i € [d], * is independently drawn from a
st)a;ld)ard normal distribution N (0, 1). The distribution of >-%__ (¢)2/ 2% (%)% is Beta(k/2, (d —
k)/2). O

Given the above probability lemma, we are able to compute the following information-theoretic lower
bound for any learner that learns from a random order.
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Lemma B.2 (Information Theoretic Lower Bound for Learning from A Random Order). Let w* ~ S%
be a target vector, and let X be a set of n > poly(d) examples drawn i.i.d. from S%. Denote by A a
learner that learns w* with a random order of X. In expectation, we have Ex..p L(A, X, Sd) > %

Proof of Lemma B.2. By Lemma A.3, we know that in expectation, L(A,X, Sd) >
EYL, 4
is drawn i.i.d. from S¢ and the order we select is uniform at random, we know from Lemma B.1 that
H(x(i))%ﬂl H2 ~ Beta((d —i+1)/2, (i — 1)/2) and has an expectation (d — i + 1)/d. Sum these
expectations together, we obtain that £(A, X,S%) > 1. O

. 2 .
() Lt H , where 2(?) is the i-th example selected in the random order. Since X

On the other hand, given any target w™, a learner that selects a random order of examples also learns
w* with an expected cost of O(1).

Lemma B.3 (Upper Bound the Cost of Learning from A Random Order). There is a self-directed
learner A that learns an arbitrary w* € S¢ with an expected cost Ex aL(A X, w*) < % by
selecting a random order of examples of X, where X is a set of n > poly(d) examples drawn i.i.d.
from S.

Proof of Lemma B.3. The self-directed learner A simply selects a random order (V)| ..., (") from
X and predicts z*+1) with w} - z(+Y). We know that with probability 1, z(), ..., (%) are linearly
independent. Since X is a set of examples drawn i.i.d. from S? and A selects a random order, we
have

B, LA X0 =B 00 50 =3 B (50 50)
dlZI =
S B (i 0)
d
- ZL :Ex(i) ((wzil )2 | x(z))

(wz.{ : (w“))Liil)z | :c(“) 8))

[y L Ry @

Li—1737(i>

2

d
i—zl Li_lﬁf(i) wLiL*l Lq‘,_171(i) (x )Lilfl Li—l,l‘(i) (u a) ( )
Ld-iv1l 1 2
= E ’ (@)
zz; d d—i+1 Li_1,z() (l’ )Liil
d
1 ; 2
SEOINE T (DM @
i1 Li—1,x
Here in (1), we use the fact that wzﬁl S Lil_l. In (2), we denote by u = wzi/ szil ,a =

CRO [CO)P

*
1
Li-

‘. In (3), we use the fact that (u - a)? is independent on the knowledge of

w and H (x(i)) L:, H Furthermore, we notice that w} , is the projection of w™ onto a random
1 = ]

d — i + 1 dimensional subspace. So we obtain E sz . || = (d =i+ 1)/d. Furthermore, we know
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that given the know]ege of fsz , a4 = (l'(l))Ll 1/ H (:L'(’L))LL . H is uniformly drawn from the unit
i1 i— i
sphere in L;- ;. By Lemma B.1, we obtain E;, | ) (u- a)® = 1/(d — i + 1). Notice that by

_ 2
LemmaB.1, E; ‘(x@))L{l H — (d—i+1)/d. This implies that Ex_4 L(A, X, w*) < 1/2.

i—1,z(®

O

B.3 The Gain of Algorithm 1

In this section, we analyze the gain from ordering of Algorithm 1. Our main goal is to prove
Proposition 4.1, which we restate as follows.
Proposition B.4 (Proposition 4.1). Let X be a set of n > poly(d) examples drawn i.i.d. from

S¢ and let A denote Algorithm 1, then over the randomness of the dataset X, in expectation,
G(A, X, SH) ™1 <O(1/d+n=%9).

We know that min_grandem Ex~p L(A™"4™ X S?) ¢ ©(1) from the last section. So, to analyze
the gain of Algorithm 1, the central question is to upper bound £(A, X,S%). To do this, we need the
following probability lemma.

Lemma B.5. Let X, ..., X,, be m independent random variable with distribution Beta(k/2, (d —
k)/2), 1 < k < d. Denote by Y = min{Xy,...,X,,}. Then we have EY <
O((m/logm)~2/*k/d).

Proof of Lemma B.5. We want to find some sufficient small ¢ > 0 such that EY < e. Notice that
Ey <EX, < k/d. So we can without loss of generality assume € < k/d. To get such an upper
bound for EY, it is sufficient to find some € > 0 such that Pr(Y > €/2) < ¢/2 because for such e,
we have

EY<EY |Y <¢/2)+Pr(Y >¢/2) <e
In the rest of the proof, we show ¢ = O((m/logm)~2/*k/d) satisfies such conditions by showing
that such an e satisfies some cleaner sufficient conditions for Pr(Y > €/2) < ¢/2.
We use the fact that Pr(Y > ) = Pr(X; > y)” = (1-Pr(X; < y))" < exp (—mPr(X; < y)).

If exp (—m Pr(X; <¢/2)) < ¢/2, then such ¢ satisfies Pr(Y > ¢/2) < ¢/2. This is equivalent to
find € such that

mPr (X; <€/2) > log(2/e). 5)
We next lower bound Pr (X; < ¢/2). By Lemma B.1, We have
Pr(X; <¢/2) = B(g, #)—1 / 25711 - 2) T da
0
> B(ﬁ, -k k)_1 (1- 6/2>% /2 25 o
27 2 0

> 2R(8, T exp (el — k) (e/2) 2
> 2R(8, T exp (—eh(d — k) /) (e/2)" 2
> 2R(8, T exp (—eh/4) (¢/2)"

2 k2 k(d—Fk) a2
= 7 exp (—ek/4) (¢/2) T(k%)

d—k de \*/?
> — — .
> — exp (—ek/4) <2k>

In the third inequality, we use the fact that € < k/d. To make (5) holds, we only need to find some €
such that

e N
Wexp (—ek/4) (;lk) > log(2/e).
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That can be done by choosing some € = O((m/logm)~2/*k/d). O

With Lemma B.5, we are able to give the following upper bound for £(A, X, S%).

Lemma B.6. Let X be a set of n > poly(d) examples drawn i.i.d. from S* and let A denote
Algorithm 1, then Ex L(A, X, Sd) <O0(1/d+ n*Q/d).

Proof of Lemma B.6. We know that with probability 1, X is in general position. That is to say every
d examples in X are linearly independent. So after seeing labels of d different examples, Algorithm 1
learns w* exactly by solving a system of linear equations. Thus, we only need to bound the loss of
Algorithm 1 on the first d examples. Use a similar approach as we did in the proof of Lemma B.3,
‘We have

d d
E L(A X, w*)=E (i) _ (D)2 ( @) _ 5())2 m)
B LA X w) ;(y Z}L » g2 | @
d
w* 2 ()
=>, B (i 7i)? |2
i=1 Li- ’T(i)
d d
— )2 (D) = (@) (@
S < £1a0) =5, B (e, 60 120)
=1 i=1
d 2
-, (HwL e[ - ?)
i=1 Li-1, m( K '
d 2
= * (@) E ca)?
; Li—y,z® ‘sz{l Li—1,z® (x )Llil Li_1,x(® (u a)
d . d
d—i+1 1 . 2 1 ) 2
- B ‘ (@ S B ‘ (@) .
p d d—i+1r,_,,2® (33 )Lz’il d ; Li 1,2 (Qf )sz1
, 2
To bound the loss of Algorithm 1, it remains to bound the E,, | . (x(’))Ltl , which is the min-
imum norm of the projection of n/(d — i)? random points onto a d — i + 1 dimensional subspace for
¢ > 1. By Lemma B.5, we know that B, ) H Li H < O((n/logn)~ 2/(d—i )ddl) <

O((n/logn)=2/dd=i 9=1). Sum these inequalities together, we obtain that Ex 4 £(A, X, w*) <
O(1/d + (n/ 1ogn)—2/d). We notice that if n > d?, then (n/logn)~2/? < 1/d and if n < d¢,
(logn)?/¢ = O(1). This implies that Ex 4 £(A, X, w*) < O(1/d +n=2/4),

O
With Lemma B.6, we can obtain the proof of Proposition 4.1 immediately.

Proof of Proposition 4.1. By Lemma B.2, we know that min random Exp L(A™08dom X Sd) ¢
Q(1). By Lemma B.6, we know that Ex £(A, X,S%) = E,- ws¢ Ex a4 L(A, X, w*) < O(1/d +
n~2/). Thus, we have in expectation, G~ (A4, X,S%) < O(1/d + n=2/9). O

In particular, we remark that with a simple application of Markov inequality, Lemma B.6 actually
implies G~ (A, X) < O(1/d 4+ n=2/%), since Lemma B.6 holds for arbitrary w*.

B.4 The Gain of the Best Learner

In this subsection, we analyze the gain of the best learner and prove Proposition 4.2.

Proposition B.7 (Proposition 4.2). Let X C S be a set of n > poly(d) examples drawn iid from
S% For every § € (3/n, 1), with probability at least 99%, G*(X,S%) = > Q(1/d + dn~(2+20)/d),

22



By Lemma B.3, we know that min_grandem Ex~p £(A14om X S4) < O(1). So in the rest of this
section, we will focus on the cost of the best learner over a random set of examples X. Our central
result is the following information-theoretic lower bound.

Lemma B.8. Let X C S? be a set of n > poly(d) examples drawn iid from S®. For every §
(3/n, 1), with probability at least 99%, X satisfies, for every self-directed learner A, L(A, X,S%) >
Q(1/d + on=(+20)/d),

Proof of Proposition 4.2. According to Lemma A3, the best learner A* to learn w* ~ S? is the one
that selects a sequence of examples with minimum spanning cost and makes the Bayesian optimal
prediction. Let o* be the sequence of examples of X with the minimum spanning cost. Then we
know that £(A*, X,S%) = C(c*,m)/d. So in the rest of the proof, we will show that with 99%,
there is no sequence of examples with a very small spanning cost. We will first show that for a fixed
permutation of the n random examples, the probability that the sequence has a very small spanning
cost is small, then we will apply a union bound to finish the proof.

We consider the random variable Y defined as follows. Let V' be a fixed subspace with dimension

k > d/2, and let  be a uniform vector over S4~1. Denote by Y = ||zy ||°. By Lemma B.1, we know
that Y ~ Beta(k/2, (d — k)/2). We show that with a very high probability Y is large. We have for
every € € (0,1),

ok ax_y k(d—Fk) (ed\*?
< 71 1— 2 1d — 7 —
_/0 x ( x) T 53 (k)

< (ed/k)*%(k/2d)e"/? < (ed/k)*/2*/2.

We set up € = 5,0~ (2+29)/% then we obtain that with probability at most n=(1+%) /2,

Y <e< ﬁn—(2+26)/k < n—(2+25)/k/2.
- T ed =

Now, we fix a permutation o of the n random examples. Without loss of generality, we assume this
sequence is (1), ... (™). We will show a slightly stronger statement that C(c, d/2) is large with
an extremely high probability.

Now assume that the spanning cost of this sequence (1), ... 2(4/2) is small, say,
4 2
Zfﬁ H@(i))Lil H < 6dn~(2%29)/k /12, This implies that at most 6d/6 terms of the first d/2

terms can be larger than nn~(2+29)/4 /2 Notice that since z(1) ... (?/2) are independent for a fixed
permutation, we obtain that

d/2 )
) 1 a+a)a-s/6)a (d/2
() —(2426)/k 1ya-s/6)d, — L
Pr Z;H(x Jpo || < ddn /12] <(3) n (M/G)
< 0.99n~ T (3)5)04/6
< 0.99n_(1+5)(}2—5/6)d+%1 < O.99n_d/2-

In the third inequality, we use the fact that 3/6 < n, and in the last inequality we use the fact
that § < 1. Since there are at most n%/? such permutations for the first d/2 terms, by union
bound, we obtain that with probability 0.99 every sequence of examples has a spanning cost at least
Q(1 + ddn~(2+29)/4) where the constant term comes from the spanning cost of the first term. This
implies that for every self-directed learner A, £(A, X,S%) > Q(1/d + on~(2+20)/d),

O

With Lemma B.8, we are able to obtain the proof of Proposition 4.2 immediately.
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Proof By Lemma B.3, we know that min grandom Exp £(A™°™ X S§4) < O(1) and by
Lemma B.8, we know that with probability at least 90%, for every learner A, £(A, X,S%) >
Q(1/d + dn~(2+20)/d) This implies that G*(X,S%) =1 > Q(1/d + én~(3+29)/4) with probability
at least 99%. O

We remark that a direct implication of Lemma B.8 is that for every learner A, there is some w* such
that with probability at least 99%, the learning cost L(A, X, w*) is at least Q(1/d + dn~(2+20)/d),
which means G*(X) > Q(1/d + dn~(2+20)/d),

C Missing Proofs from Section 5

In this section, we analyze the performance of Algorithm 2 for the self-directed ReLU regression
problem and present the proof of Theorem 5.1 in this section.

Theorem C.1. Let X C R? be a set of n > poly(d) examples drawn i.i.d. from S%. Let G(A, X) be
the gain from ordering of Algorithm 2 for the self-directed ReLU regression problem over X. Then,

: a,l’l2 . n
min{O(®=01ED) O(ED)}  if grirega > exp({),

B 1 . n? . T(L:) d - Andlogd
G(AX)™! < O0(3) + § min{O(SE0g89), OGN} if 1< s < exp(§)
1 . no
O(z) if trdroga < 1-

C.1 ReLU Regression with A Random Order

We start with an information-theoretic lower bound for the cost of a learner that uses a random order.

Lemma C.2. Let w* € R? be a target vector drawn uniformly from S®. Let X be a set of n > d
examples drawn i.i.d. from S®. Let A be any learning algorithm for the ReLU regression problem
over X that uses a random order to learn w*. For a random set of examples, let the random variable
L(A, X,S%) be the expected learning cost of A. Then we have Ex L(A, X,S%) > Q(1).

Proof of Lemma C.2. Assume a self-directed learner A learns w* with a random sequence of exam-
ples z() ... 2(") To lower bound the learning cost of .A, we slightly relax the learning model so
that in each round .4 not only sees Relu(w*-2(*)) but also sees w*-2(?). In the relaxed learning model,
wy,_, is known at the beginning of each round. We say an example (@ is good if wy, @ >0

andwy, - () > 0. If () is not good, then we say it is a bad example. Notice that by symmetry,

in each round with probability 1/4, we will get a good example. Let y(*) be the true label of () and
let () be the prediction for (). Consider a single learning round, we have

By — §)? = Pr(e is good) B (5~ §7)? |« is good) + Pr(e is bad) B (5 — 5)? | 2" is bad)
> B (0 =390 [+ i good)
= iLi_hai_hm(i) ((Qz —ai_p -2 — wzil 22 | 29 s good, wy, | = ai—l,.’I}(i))
= iL,‘,_l,E—lm ((ﬁz‘ - wzil - 2®)2 | 2 s good, wp = a1, I(i))
> iVar ((wzf—l 2@ | 2 is good, wh = a1, x(i))
= iVar ((wzi{1 . (m(i))Li{l) | 2@ is good, wh = a1, x(“>
= id fcz'l+ 1d fcil+ 1Var wz#_l , (CU(Z:))L%_l )| 2@ is good, w}, | = a;_1,2"
[ COP
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sin 6

asinf

bsin 9/’
I/
Figure 1: Geometry illustration for Lemma 5.2. K/} is the red shadowed area and K ; is the black
shadowed area. As a/7 increases, ' = arcsin(asin /) > 0/2 and M (K7 ,) C K| ;.

Here in the third equality, we denote by p; = §*) — a;_1 - (9. This implies that Ex £(A, X,S%) =
S EEO — )2 = (1),
O

Lemma C.2 implies that for every A™74°™ there is some w* such that Ex L(A, X,w*) = Q(1).
Thus, Min_grandom Max, Ex L(A™Mom X w*) € Q(1).

C.2 Geometric Technical Lemma

As Lemma C.2 suggests, to analyze the gain of Algorithm 2, we only need to analyze the learning
cost of Algorithm 2. The central technique we use is the following geometric technical lemma. At a
high lever, it bounds by above the probability that a point far away from some guess w is also far away
from the ground-truth vector w*. We define by K, := {z € C' | w-z > asin 0} the set of points that
are far away from the guess w (large-margin points) and by K, ;, :== {z € C | w-z > asinf, w*z <
—bsin 0} the subset of K, that contains points that are far from w* (large-margin with respect to
w™*). We show that conditional on K, the probability that z € K, ; decays exponentially fast as a

function of the margin b, i.e., Pr (z € K, | € K,) < exp ( — O(db? + 2ab cos 9)) This means
that with very high probability all points in K, will land “close” to the target-vector w*.

Lemma C.3 (Lemma 5.2). Letw* € S¢ be a target vector and let w € S? be an arbitrary vector such
that 0 = O(w*,w) < m/2. Denote by C = {x € S% | w*z < 0,w - x > 0}. For every a,b € (0,1),
denoteby K, :=={x € C|w-x > asinf}and K, :={x € C|w-z > asinf,w*z < —bsinb}.
Let = be a point uniformly drawn from S?. There is some absolute constant ¢ > 1 such that if a/b > c

thenPr(z € Koy | 2 € K,) < 2exp ( T az)(b + 2abcos€))>

Proof of Lemma 5.2. Without loss of generality, we assume that w = e; and w* = —sinfle; +
cos fey, where ey, eo are the first two standard basis of R?. We consider the projection of = onto the
2-dimensional subspace spanned by w, w*. We use a polar coordinate to write such a projection as
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7 cos ¢e; + rsin ges. In this way, we obtain that
C= {(7", (b) | (S (Oa 1)7¢ S (07¢)}7
K,={(r,¢) | rsin¢ > asinf,r € (0,1),¢ € (0,¢)},
Kop={(r,$) | rsin(¢ —0) > —bsind,r € (0,1),¢ € (0,4)}.

We partition K, 5 into two parts. (See Figure 1 for detail.) Let v2 = a? + b2 + 2ab cos § Denote
by K, == {(r,¢) € Kup | sing € [asin®,asind/v]|} and K, = {(r,¢) € Koy | sing €
[asin®/v, (/1 — (bsin®)? — bcos ) sinf]}. We mirror K/, according to ray {(r,) | sin¢ =
asin 6/~} and obatin a mirror set M (K ;). We notice that when a/b > ¢ for some constant ¢ > 0,
a/y >1/v/2and sin®’ = asin /vy > sin(#/2). This implies M(K},) € K, ;. By symmetry, we
obtain that Pr(z € K,) < Pr(z € K| ;) when this happens. Since K, C K,, we have

Pr(re K. |zeK,) <2Pr(zeK,,|zekK,).

In the rest of the proof, we will show Pr (x €K, |ze Ka) < exp (—2(1%‘(12)(1)2 + 2abcos 9))

By Lemma B.1, recall the density function of r is f(r) = %=2(1 — r?)%/2=2r. Furthermore,
¢ ~ U|[0, 2r]. This implies that
d—2 (4 1
Pr(ze Kuy) = 5 / / (1- r2)d/2_2rdrd¢
(27T) arcsin(a sin ) %“df’
1 /9 asin® o 4/9_1
=— 1— ()22 1.
(271')2 arcsin(asiné’)( ( 51n¢ ) )
P ( K ) d—2 arcsin(asinf/vy) p1 (1 2>d/2_2 p d¢
r = — —
. a,b (27T)2 arcsin(a sin ) % " "
arcsin(a sin 6 :
_ 1 /dC ( S: /) 1_(a'Sln9)2)d/271d¢.
(271-)2 arcsin(a sin 0) sin ¢

To simplify the notation, we introduce the following function

1 /arcsin(a sin 6/t) 1 asin @
a

g(t) = e - )22 dg,  t € [a,1].

rcsin(a sin 6) sin (b
Then we have We are interested in the upper bound for g(v)/g(a). To do this, we upper bound
log (9(7)/9(a)) = (log g(1))" (v — a).

for some ¢ € [a,]. Now we derive an upper bound for log g(t). Notice that
1 asinf(1 —t2)4/?-1 1 asind(1 — )42t

B e T RN T

On the other hand, we have Pr (a: €EK,,|ze€ Ka) =g(v)/g(a).

1 arcsin(a sin 6/t) asin 6 B
g(t) = S / 1— %)Q)d/Q 1d¢
(27T) arcsin(a sin 0) S (rb
_ 1 /1(1—32)d/2_1 asin g ds
(2m)? J; s4y/s%? — (asinf)?

1 .
< 1 2/ s(1 — $2)4/2-14s asin 6
(2m)2 J, t24/t? — (asinh)?

(1 —t2)2asing

(2m)2dt2 /12 — (asin )2
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We have

So, we obtain that

9(v) —da(l —a®) Yy —a) = da(y* — a?) d(v* —a?)  d(b*>+ 2abcos0)
log (g(a)> < —da(l —a”)" (v —a) < :

(v+a) — 3 3

Here, the second inequality holds because v = /a2 + b2 + 2abcosf < 2a. Thus, we get
2 2 2
Pr (x €K, |ze Ka> < eXp(—%) = exp(—w). Put everything together,

we obtain that Pr (z € K, | € K,) < 2exp (—ﬁ((ﬂ + 2ab cos 9)) .
O

We briefly explain how we will make use of this lemma. In Lemma 5.2, w* can be understood
as the target vector and w can be understood as our current hypothesis w* used in Algorithm 2.
Pr(z € K, | € K,,) can be understood as if the margin w(?) -z is large, then with high probability,
the learner’s cost (w* - )% must be small.

Next, we will make use of the “maximum margin” lemma used in [DKTZ23] to show that the example
we selected actually has a large margin.

Lemma C.4 (Maximum Margin (Proposition 21 in [DKTZ23])). Let v, u € R be unit vectors such
with angle O(u,v) = 0. Let C = {x € S |v-2 < 0,u-2 > 0}. Let (M, ... 2™ ben iid.
examples drawn uniformly from S¢. Then

1. Foralln,s > 1and c > 2 such that exp(—dc/4) < 4ws/(nf) < 1,

log((n@/4ms)) .
Pr ({ré%l)]((u “wli,mecy) < — oed sinf | < 2exp(—2s).
2. Foralln,s > 1 such that dws/nf < 1,
4
Pr (grel%(u “2lpmecy) < (1 - (5)2“) sin 9) < 2exp(—2s).

C.3 Proof of Theorem 5.1

Now we are able to prove Theorem 5.1.

Proof of Theorem 5.1. We notice that if (z(9),4(®)) = (0,0), then with probability at least 99%,
the first time we see a positive example, we will select some example z(!) € S¢ such that 0 <
w* - () < O(1/d). This implies that we will pay O(1/d) to get a pair of example (1), 3™)) such
that (2", w*) < 6y = 7/2. So it sufficient to deal with the case where (2(*), y(©)) = (0,0). In
this case, for every ¢ € [d], we use random variable ¢; to denote the cost of Algorithm 2 for predicting
labels of examples in X;. Let §; = O(w,w*) and C; := {x € X; | w® -2 < 0,w* -z > 0}. We
say Algorithm 2 makes a mistake at some example z if Relu(w'”) - z) # Relu(w* - z). We will
derive a high probability bound for each c;, then the total learning cost is Zle ¢; since after seeing
d positive examples, we are able to solve a linear equation to get w* exactly. We consider three cases
here.

Case 1: 0; < %. In this case, our current hypothesis w(?) is very close to the target w*. In
this case, we have to consider two different situations. In the first situation, there is at least one
example 2 € C;. Since Algorithm 2 keeps selecting example 2 that minimizes w(® - z, once we
make a mistake, we must make a mistake at some example 2 € C; by paying (w* - z)? < sin? 6,.
In the second situation, there is no example = € C;. Let C! = {x € S¢ | —x € C;}. By symmetry,
we know that with probability at least 1 — 1/poly(d), there are at most O(log d) examples in CY.
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Since there is no example in C;, Algorithm 2 will make a mistake at examples x such that w* - 2 > 0
and will stop making mistakes at some example x such that w* - x > 0. When we make a mistake
at an example 2 € C!, we pay (w - z)? < sin” 6;. Since there are at most O(log d) examples in
C!, we will pay at most O (log dsin? 6;) for examples in C/. When we make a mistake at a positive

example z, we pay (w® -z — w* - x)? = (w} . -x)? < sin®6;. In summary, with probability at

least 1 — 1/poly(d), we have ¢; < O(logd) sin? §; < O(%) < 1/(dn) since we assume that
n > poly(d).

Case2: 1 < 47rdlogd
subset of them, we obtained that with probability 1 — 1/poly(d), there must be at least one example
x € C; and Algorithm 2 will make its mistake at some example x € C;. Since Algorithm 2
always selects the example z that minimize w® - z, we must make a mistake for an example
z € argming .o, w - 2’ and pay (w* - z)%. Now let z € argmin,, .o, w® - 2’ be the example
where Algorithm 2 makes a mistake. Assume w(® - z = —asin; and w* - * = bsin6;, then
our cost in this round is b?sin?#;. Denote by K, := {z € C; | w¥) -2 < —asiné,;} and
Kop={z €| w® .z < —asinb;, w* -z > bsin6;}. We want to show that given w® . xis
negative enough, with high probability, b cannot be too large. By Lemma 5.2, this is

< exp( ). Since each example is drawn i.i.d. from S% and X; is a random

Pr(ze Ky, |z € K,) <2exp ( — (b* + 2abcos€)). 6)

d
3(1 —a?)

To derive a high probability bound for b, it remains to understand how large a could be. Denote by
m = n/d, which is the number of examples in X;. Since 1 < < exp( ), by Lemma C.4, we

obtain that with probability at least 1 — 1/poly(d),

w® .z < \/log((mﬂii:llw log d)) sin 6.

4lgd

Since 1 < 4:{2g -» again, by Lemma C.4, we obtain that with probability at least 1 — 1/poly(d), we
have

; 4mlogd
w® . < — <1 _ (7T0g)2/d> sin 6;.
mHZ-

This is to say, with probability at least 1 — 1/poly(d), we have w® - 2z <

min{— wsmei, - (1 - (%)2“) sinf;}. Now we are able to derive the

bound of ;. Apply (6) with a = |/ R8O 4rlog D) g = [ JOmd - we have

2dab cos 6,
Pr(z e Kop |z € K,) < 2exr>(—%) < 1/poly(d).
On the other hand, apply (6) witha = 1 — (%‘(fd)wd and b = %(%‘f”z)?/d we have
2db?

Pr(zx e Kop | v € Ky) <2exp(— ) < 1/poly(d).

31— a?)

Combine these two bounds together, we obtain that with probability at least 1 — 1/poly(d), ¢; <

. 16 log? d . logd (4mlogd . 29;logd log d
mln{dcosz(flog(jﬁ;.()'/élﬂ'logd) San 9"}’%( Trnlzg )2/d} = mln{o(tzliog(ngig) )’O(d;)l%/d)}'

Case 3: 4ﬂgfog 7 > exp( ). This case is similar to Case 2. We know that with probability

1 — 1/poly(d) there must be at least 1 example in C; and we will make a mistake at that example.
Since 1 < 4”}0gd, by Lemma C.4, we have w® -z < — (1 — (%)z/d) sin 6;. The slightly
mé;
47r 1og d

However, if we sample m’ examples from X; such that 4:}&; 5 = exp( ) and consider the examples
among the sampled points in C}, then we are able to apply the first case of Lemma C.4. We will get

tricky part is that since > exp( ), we are not able to apply the first case of Lemma C.4.
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with probability at least 1 — 1/poly(d), w®) - & < —, /3> sin 6;. Now apply Lemma 5.2, we know

thatd Wfiith probability at least 1 — 1/poly(d), ¢; < min{O( tan® s; logd) O dlzgz;/dd )}. In summary, if
we define

mln{O(tan Glogd) O( logd )} lfm > GXp( )

dn?2/d
_ n2 6 log d log d
f(0) = { min{O(*2 10g(59g> ), O(J84)}  if1< m < exp(%)
1 .
O(z) if 47rdlogd <1,
then for each ¢ € [d], with probability at least 1 — 1/poly(d), ¢; < f(6;). We notice that cos §; =
- = v —, which implies that is decreasing in each roun so, it is not hard to
||wuff(>)\\|1f}w*u | e - whien plies that 6; is d ¢ h round. Al hard

check as 6; decreasing the cost bound f(6;) is also decreasmg in each round. This implies that

with probability at least 1 — 1/poly(d), we have Zi:l ¢i < df(6p). Combine with the cost for
initialization, we have

: an2 O, O, : T
1 mm{O(%), O(2%9)} if 47rd?8gd > exp(§),
LIAX) <O(5) + mm{o(%),o(l‘gf)} if 1< 800 < exp(§)

1 - 9
Oo(3) if e < 1.

By Lemma C.2, we know that min_grandom max,, Ex L(A™°m X *) € Q(1). Thus, we have

: an2 O, O, :
1 mln{O(%),O(ﬁ?)} if W > exp(§),
G(AX)™ < 0(5) + | min{O(Eais D, OCHD) i1 < miteg < exp(§)
O(%) if 477318gd <1
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